
 Math 95 
 

MTH	95	–	Ch.	8	Review	 	 	
	
Note:		On	the	test,	you	will	be	allowed	to	use	your	calculators	but	no	notes.		You	will	be	expected	to	
show	all	of	your	work	clearly	and	simplify	all	answers.		When	simplifying	radical	expressions,	you	
may	assume	all	variables	are	positive.	

1. Evaluate	using	real	numbers,	or	state	that	it	is	not	a	real	number:	

a. 		 	 b.	 			 c.	 			 d.	 	

	

	
2. Find	the	domain	of	the	following	functions.		Write	your	answer	in	interval	notation.	

a. 			 b.	 	 	 c.	 	
	

	

	
3. Write	in	radical	form,	and	simplify,	if	possible.	

a. 		 	 b.	 		 	 c.	 	 	 d.	 	

	

	
4. Use	properties	of	exponents	to	simplify.		Write	your	answers	in	simplest	radical	form.		

Assume	all	variables	are	positive.	

a. 		 b.	 	 c.	 	 	d.		 QRSTUVW

QXSU
			

	
	
	
	
	

5. Simplify	(use	absolute	values	when	necessary):	

a. 		 b.	 	 c.	 	 		

	

	
	

d. 		 e.	 		 f.	 	
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g. 	 Q50𝑥^_𝑦^a	 h.	 		 i.	 	

	
	
	

	

j. 		 	 k.	 		

	
	

	

l. 		 m.	 		 n.	 	

	

	

	
6. Rationalize	the	denominator	and	simplify.	

a. 	 	 b.	 	 	 c.	 	

	
	
	

	

	
7. Solve	the	radical	equation:	

a. 			 b.	 		 c.	 	
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d. 	

	

	

	

	
8. Simplify.		Write	your	answer	in	terms	of	i.	

a. 			 b.	 	
	
	
	
	
	
	

9. Perform	the	indicated	operation	and	simplify.		Write	your	answer	in	standard	form	
a+bi.	

a. 		 	 b.	 	

	
	
	
	

c. 		 	 d.	 	
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Answers	

1. a.	 8	 	 b.	 -8	 	 c.	 not	real	 	 d.	 -4	

2. a.	 	 b.	 	 c.	 	

3. a.	 	 b.	 	 c.	 	 d.	 	

4. a.	 	 b.	 𝑎
VW
kV = 𝑥 √𝑥^^kV 	 	 	 c.	 	 d.	 Q2𝑥a𝑦n 	

5. a.	 	 	 b.	 4|𝑎_|𝑏X√3𝑏	 	 	 c.	 	

d. 	 	 e.	 cannot	simplify	 	 f.	 	

g. 5𝑥q|𝑦r|Q2𝑥𝑦	 h.	 	 	 i.	 24|𝑥_|√5𝑥	

j. |𝑦|Q5𝑦		 k.	 	 	

l. 2|𝑥_|√2𝑥	 m.	 5 − 2√6	 	 n.	 	

6. a.	 	 	 b.	 	 	 c.	 	

7. a.	 	 	 b.	 	 c.	 	 	 d.	 	

8. a.	 	 	 b.	 	
9. a.	 		 	 b.	 	

c. 		 		 d.	 	
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